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7123 7122 (CMS H7|2| |, LAIZ]H) 31,018,000
7|Et +=¢ ol =O|Xt & &=+9 7,679,794
T34 38,697,794
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FDALY 3F7| FEALY 2 5,364,750
Hh 7| Ot ALY |HE /K], FA=Y, 7|2H] & 27,129,400
7| ZO0t7t0| EALY |21 A, =7, de|, =TIH| & 14,227,400
HCHALE = 5=, WAH|, dX=AHH| & 1,096,200
HTAY St= HAHH| 5 4,360,500
3| HAY o2 E ot KiEt ZH| 3,718,946
At =<H| A 55,897,196
oI AH| 7,850,830
HAMSotz@th 2™, felA, THitM) & 1,383,352
RS alH| AgsrEMF7IZE Olite+8) 5 2,036,920
2loH[(ZtE=|o| B AlLH) 506,150
2| o|H|(&f 0| Ah 200,000
A2 E FTH(AO §), 7|Ef 424,510
2| A 12,401,762
X=34 68,298,958
HATOo[E= 172,233,128
243 1AHE7| X}7] o|E = 142,631,964







